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Read the following instructions carefully before you begin to answer the questions. This Question Booklet
contains 120 objective type questions with multiple choice answers, viz., 70 on Mathematics in Section-A, 20
on English in Section-B and 30 on Odia in Section-C. The questions in Section —A have been given both in

English and Odia language as far as practicable.
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INSTRUCTIONS FOR CANDIDATES
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1. This Booklet contains in all 120 objective type questions with
multiple choice answers as detailed above.

2. All questions are compulsory and carry one mark each.

3. Before answering any question, checkup the Booklet and ensure
that it contains 24 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

4. The Invigilator shall supply you the blank OMR Answer Sheet
separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point pen only. You must write
the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

5. A machine will read the coded information fumished by you in the
OMR Answer Sheet. If the information so furnished by you are
incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

6. These instructions must be complied with fully failing which your
Answer Sheet will not be evaluated and Zero mark will be
awarded.

7. Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pen only. Answers not shown by
black/blue ball point pen shall not be awarded any mark.

8. Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room will make you liable to penal
action.

9. Read carefully the instructions of answering each question before
answering it.

10. Answer the questions as quickly and carefully as you can. Some

questions may be easy and others difficult. Don’t spend too much

time on any question.

11. No Rough work has to be done on the OMR Answer Sheet. Space

for rough work has been provided in the Question Booklet

wherever needed.

12. You must not carry into the examination hall/ room any book,

mobile phones or electronic devices printed/handwritten papers

except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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Section - A : Mathematics

1.What is the square of 11117
1111 @ 94 6@69?
A) 1234321 B) 12321

simple interest?

Qe QI 21861 4000 g1 5 9868 5000 &1 9F 626R, PR 2R 6R6E ?

A) 10%

B) 8%

C) 1112311 D) 1232341

C) 5%

D) 4%

-Which of the following four logical diagrams correctly represents the

relationship between Tie, Shirt and Shoe?
861 998 SI8G 8 FRIQ 6208 TN, AIF I 6]10IQ IOFNR K98 ?

QO
O

(A)

A
(B) (<)

-If the position of the last 2 digits of a 3 digit number are inter-changed, the new
number thus created is 54 higher than the original number. What is the

(D)

difference between the last two digits of the number?
e Ghae 388 LHIR 699 @RI AR AARER FER, QYR W R AHYOIQ 54 AR
24 1 6569 6419 QR AR AR 6QEC ?

A) 6

B) 9

C) 12

years after repaying bank loan?
Geae 10% 21060 QUIeq 10000 661 @68 @8 13% 1A QR 6RIGT 90R 6aal 1 5 Qd
6AY6Q 64%Q PI'Q QI QS AQESIN A 6R6E T RV AR ?
C) Rs. 2100 D) Rs.2500

A) Rs.1200

B) Rs.1500

D) None of these
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-What is the rate of interest if a sum of Rs.4000/- becomes Rs.5000/- in 5 years on

.Nabaghan borrowed Rs.10000 from a bank at interest rate of 10% and lent the
same to two persons at 13% interest. How much profit will he earn after 5

.A sold a bi-cycle to B @20% profit and B sold the bi-cycle to C at 25% profit. If C
purchased cycle at Rs.1500, what is the sale price of the bi-cycle?

A, B § @ Aasam 20 % RI96R 8 B, C @ 25% RIesa Sa@6m | 9@ C aasang 1500
SFIEQ @A, 6061 ARCRRA FFRY 6R6G ST 6227

A) 1000

B) 1100

C) 1200

D) None

.In a certain code, '5 9 2’ means ‘Come and Play’, ‘'3 5 7" means ‘Go and Sleep’

and 2 1 6 means ‘Play but Read’. Which of the following means ‘Come’ in that

code?

65163 QIR 5 9 2 @ 8d “AId e 687" 35 7 @ 21g "2 I9° g2 e° 2 1 6 @ &
“Coe @3 AQ” | 693 AT F67Ie 6aada &g “Come” ?

A) 5

B)7

C)2

D)9
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Section - A : Mathematics

8.What smallest number shall be added to 4515600 to make it a complete square

number?
4515600 60 609 H9OF &l 62T R6R CATTR I L6 A3l 6267
A) 23 B) 64 C) 25 D) 16

9. The minimum mark to pass an examination is 33% of the total marks. A student
secured 220 marks and failed by 11 marks. What is the total marks of the
examination?
6QIGN ORIFIER TIQ KA AR ASHE] A 6718 2Faa 33% | 641 818 220 fga o 11
g QIR 6rR 626R | AQIFIER 691G QIR EREL gYmI ?
A) 800 B) 700 C) 900 D) 600 -

10. Three different positions of a dice with numbers inscribed on each side have
been shown in the following figures. Find out the number opposite to 6.
767118 58GFR6R Y6 AIFER LHYICIR CRHIVIR 6915~ ATIGR 61T Thr &6
QEINRE | 6 @ FARIE AR & AT 6R60 ?

4 , 1 1
1 |6 a4 |3 3 i2
(A) 4 (B} 3 (Cha {D)2

11.1f the ratio of the sides of 2 cubes is 3 : 4, what is ratio of their volume?
Q@@ AR ng AP aam@ 3: 4 696m, QA9 AR 8@‘2”@ EPEe 699 ?
A)3:4 B)4:3 C)64:27 D) 27 : 64

12.A bicycle was sold at a profit of 20%. If both the cost and the sale price are
decreased by Rs.100, there will be an additional profit of 4%. What is the cost of
the bicycle?

@ ARCIRG 20% RINER TF FAUARI | AT 29K FARY 8 FFIRYER $.100 6RHN REUQAN,
6069 4% RIS AN TS | AQEXRA FATIRY 6R6S ?
A) Rs.500 B)Rs.600 C)Rs550 D) Rs.650

13.5 years back, the age of father and son together was 45. What will be the sum of
their ages after 5 years?
5ed g6< Qg 6 gae @2Q §8 45 ad gnl 1 5 oF 96R 6AAIRER SUAR ANT 6R60 6297
A) 65 B) 60 €156 D) 50

14.Select the missing number of the circle from the responses given below.

G622 ARQ FIGT FRIQ 6998 QRQ F6SIF Y Al 2657
9 11 7
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15. Which of the following are the pairs of co-primary number?
G608 61T FRIQ 694 6AIBT CRAR 691RR A°H 62IS 268 ?
A) (32,62) B)(14,35) C)(31,93) D)(17,19)

16.Rahim reared some hen and goats. If the heads of the hens and goats are 90
and their legs are 248, how many goats did Rahim rear?
Q20 38 90! 8 687 AIRYRI | UG 687 8 ggelw 8 4 90 8 60lIe 18 248 94, 666@ Q¢
ER60IT 685 AR ?
A) 32 B) 34 C) 36 D) 40

17.When from 5 persons, one with 60kg weight left and a new man joined the
team, their average weight increased by 2kg. What was the weight of the new
man?
5 @8l 6RI9F FRIQ 60 @.9. 6209 G964 6RIF AR ARIRE6E G2l 6RIS GIF ATE 6419
6QQI06Q 6ATREA LIALIA B 2 8.9/l LRI | 6069 aal ERIRTR BRR 696S ?
A) 50 kg. B) 65 kg. C) 68 kg. D) 70 kg.

18.In how many years a sum of Rs.5000/- will become an amount of Rs.5832/- at
compound interest rate of 8% per annum.
Q@ 8% 21868 5000 SFIQ AR 99 Yo 6766 @86R 5832 T 629 ?
A) 3 years B)2years C)4years D)5years

19.By what greatest number will 756, 2249, and 8227 be divided to leave the
remainders of 9, 8, & 10 respectively?
6e9 QLR A°GHYl FIR 756, 2249 B 8227 q QUIRER QUCISSIV L2lIqEeT 9, 8610Q&e ?
A) 77 B) 747 C) 889 D) 898

20.The simple interest of some principal is its 16/25. If the rate of interest and the
time are same, what is the rate of interest?
6ER IR MR AQR QI FRURR 16/25 2°¢l | 98 Q90 PIQ AR B AV AR 99, 6069
QRIQ LR 6R6S ?
A)5 B)8 C)7 D) 4

21. What smallest number must be subtracted from 34967 to make the result of
subtraction a complete square number?
34967 @ 629 YO Ll FELUT FER, FEAUTTR 9@ GG A°HYI 629 |
A) 371 B) 317 C) 316 D) 361

22.1fA:B=3:4andB:C=8:9 whatisA:B:C?
s QGA:B=3:468B:C=8:999 6060 A:B:C6a607
A)6:8:9 B)8:6:9 C)9:8:6 D)3:32:9
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23. What will be total compound interest of Rs.8000 in 9 months at compound -
interest rate of 20%, if interest is calculated once in 3 months?
A8 3 Q1ag 26a P §QAIF *AIAN, 8000 6FIQ 20% 9998 Qo 2IR6a 9 F1I9Q 641IS 9GR
Q) 6Q6E 629,7
A) Rs.1250 B)Rs1258 C)Rs1261 D) Rs.1270

24. A book was sold at a profit of 12%. There would have been 18% profit if the sale
price was 8 paise higher. What is the cost of the book?
691N @ 12% RIVEQ GG QAU | SFRY 2R 18 90Ql 2R 6LIRER 18% IV IR
| 925Q QURY 69 ?
A)Rs500 B)Rs200 C)Rs400 D)Rs3.00

25. What shall be the percentage of profit if a shopkeeper sells 2 lemons at the cost
price of 5 lemons?
@661 6QIRI1 5 § 6Rga @6l QIF6Q 2 § 6Req GAtR SI21Q S0RC RN 6637
A) 100% B) 125% C) 150% D) 130%

26.\What is the cube root of —=ot ?

193¢ 4096
T P
s 0 9RYR 6960

11 21 21 11
A3 Blsis ©) % Py

27. An examinee secures 30% marks and fails by 50 marks in an examination.
Another examinee gets 320 marks and fails by 30 marks. What is the maximum
marks of the examination?

@66 aaIRIg 9@ a918Isa 30% aee ag 50 TS QIR 6TrR 94 | 2R K68 AT 320
Qga @ 30 ¢Ie AR 6TR 94 | 6969 AQITIQ ATRYR FIF 6R6E ?
A) 700 B) 800 C) 900 D) 1000

28.1f 517 * 324 is divisible by 3, which of the following small numbers will replace
the star mark?
QG 517 * 324 AT 3 FIQI FRIFY 9, 6669 * 2] FIFER F6CIB 629 YOI LG AFS ?
A0 B)1 ) 2 D) None of these

29.If the salary of A is 25% higher than the salary of B, by what percent is the salary
of B less than the salary of A?
A2 A @ @l B @@l @ 25% 2@ 29, 6069 B @ @@l A QIR @@ 6260 @71 7
A) 15% B) 25% C) 10% D) 20%
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30. The depth of a water tank of cube size of equal sides is 200cm. If 1000 litres of
water is drawn-out of the tank daily, in how many days will all the water of the
tank be emptied?

6615 AAARIRIQ QI8 IR FR10G! 200 6251 1 9gQ 666@ 1000 Rea QIS FILERER 666
QR6Q QISeR 689 6QIRLS?
A)4days B)6days C)7days D)8days

31.1f white is called Red, Red is called Blue, Blue is called yellow, Yellow is called
Black, Black is called Green and Green is called Grey, then what is the colour of
the clear sky?
A3 URIQ AR, ARG V1R NL° ARG RG QRIAN, 2RTAIG AR, *RIQ AFE W° ARG AR
QAL BT 2RI A F61?
A) Red B) Blue C) Yellow D) None of these

32.A, B & C start a business by investing money in the ratio of 5: 7 : 6. Next year,
they increased their investment by 26%, 20% and 15% respectively. Profit
earned during the second year shall be distributed in the ratio of -

5:7: 62901660 9 5626@a A, B 6 C 6664 9492 2102 908 | 61 aaed 6a¢lise 98
Geqag QelIgee 26%, 20% Ie° 15% QeIR G283 | §910 o 621R2RI AING 696 2916
Q4Q QAILe ?

A)21:28:23 B) 26:20:15 C)31:27:21 D) None of these

33. Three of the following four are alike in a certain way and hence form a group.
Which is the one that does not belong to that group?
Geqla SIAE FrIQ G6aIT 616 Fag 9g6R AAIE | 6296 638 6611 G6% ?

A) OSV B) NRU C) GKN D) EHL
el X=(3 ++/8), then, (x* + %)z 2

98 X =(3 +V8) 99, 6969, (x? + ;)= 6966 6297

A) 38 B) 36 C) 34 D) 32

35. Which of the following boxes can be created by folding the given key design
in the question figure?
g4 966a geR O 60HIGe] QTR F67IS 696 AIFE CaIR KR6RQ?

Question Figure Answer Figure
3 6 6 B 4
5 16 2 3 2 2 5 1 5
- 3 | 2 (A) (B) (€) (D)
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36.In a joint venture A & B invested money at a ratio of 3: 2. If 5% of the total profit
is donated to a charitable institution and A gets Rs.1824, what is the total profit?
A 8 B @ 6412 S4QQI96Q 3 : 2 2GAI06R 22 FFEIT @M | 9@ 6716 RIVA 5% IR QG
QARG Qe KA I° ‘A’ 1824 o=l AIN, 6969 6711 RN 6REQ S@1?
A) 3000 B) 3300 C) 3200 D) None of these

37.3/27x3/=2744 = ?
V27xY=2744 = 666 62Q7?
A) -52 B) -42 C)-32 D) -24

38.The average monthly salary of 10 employees working in company is Rs.6835
and the average monthly salary of 3 women employees among them is Rs.5428.
What is the average monthly salary of the rest 7 employees?
6QIEN @¢IFER RN 10 @4l *FCIREA LINTIR AT 6965 6835 Sl I9° 61T
ORIER 2Rl 3 @8l AERI AFSIAIER FI3R TAULIR 696R 5428 G | 6569 2T 7 RITR
QLR AR 69 6R6S ?
A) Rs.6550 B) Rs.6845 C)Rs.7238 D) Rs.7438

39.7 members of a family live for 36 days at Rs.840/-. How many days can 9
members of that family live at Rs.8107
601G ARQIeR 7 Q41 Q4@ 840 o169 36 @R RAINE | 628 ARQIRR 9 @8 Q4@ 810
SFIER 6RES TR OF AIRES ?
A)24days B)27days C)30days D) 36days

40.|n certain code GEAR is written as 5914 and ROUTE is 47289. How shall GATE
be written in that code?
61614 QleaEasa GEAR @ 5914 ¥9@° ROUTEQ 47289 6adIN | GATER 698 QI6a6@6a
@AQ RIS ?
A) 5187 B) 5189 C) 5289 D) 5429

41.A, B & C invested Rs.114000 in a business. At the end of the year they got profit
of Rs.337.50, 1125 and 675 respectively. What is the investment amount of A?
A, B 8 C 99 949Q196Q 6916 114000 o GF6QI0 96/ | 98 651868 6CN6R eliges
6.337.50, 6.1125 3 6.675 RIQ AIR6R | A @ SG6AIT 2ea ARSI 666 ?
A) Rs.18000 B) Rs.60000 C) Rs.36000 D) Rs.48000

42.The population of a town is 300000. If the birth rate is 5% and the death 3%,
what will be the population of that town after 2 years?
601N Q2R M S 300000 | 98 SQIIN 5% G FIPIVIR 3% 6NN, 6969 2 I
J6Q 6T ALAQR SRIS A°HY 6R6C 629 ?
A) 321120  B) 311220 C) 312120 D) 322110
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43.How many 3 digit natural numbers are there?
OF Am QF 67118 IR QG| 6R6RIT 2T ?

A) 800

44. A person sold a T.V set at Rs.3450 making a profit of 15% and sold another T.V

set at a loss of 10%. If on the whole there is no profit or loss, what is the

B) 1000

C) 900

sale price of second T.V set?
@64 6RIR R TV @ 3450 65160 S 15% Rt @6 8 204 e T.V @ 10% 856a
G261 98 6619 QAU6R AIFA NN 2 VG 621 | 2N, 6061 o1 T.V. @ 8 JRY 6960 ?

B) Rs.4000 C) Rs.4500

A) Rs.3450

D) 1001

D) None of these

LS-MEOO-16 / A/ Page 9 of 24

45.7 years ago the age of Ajay and Bijay was in the ratio of 4 : 5. After 7 years, the
ratio of their age will be 5: 6. What is present age of Bijay?
7 Qd 96C 290 8 FROR QLR 2GAIG 4 : 5 AR | FRAIROIR 7 FTACR 6ACINTR YR
2QAIG 5 : 6 629 | 656@ FRUQ FEFIR QLA 669 ?
A) 56 years B) 63 years

C) 70 years

D) 77 years

46.There was 10 litres of milk in a pot. 3 litres of milk was drawn out of it and 3 litres
of water added. Again 3 litres of the mixture of milk and water was drawn out
and 3 litres of water added. What is percentage of milk in the new mixture”?

Q@ €Ig6a 10 Req F18 Rl 1 92 3 AR V1R FREAR 3 Mo QIS Fdian! | gt 1T J1a 3
aidie Ggeg 3 Rea fgd @@ 3 Ao A FGIGER, Qo0 fg86a 10 6ae RIS 6R667

A) 50%

B) 49%

C) 51%

D) 8%

47.How many triangles are there in the figure given below?
612 26 66LIS e a8 ?

e,

(A) 10

e,

——,

(B) 16

{(C)s8

(D) 20

48.J, K, L, M and N are five friends. Each of them has a different height. L is taller
than J & N and shorter than K & M. Only one person is shorter than N. Who is

the shortest?

J, K, L, M 9e° N Ig@édl @f | 6QelIea (1lQ geeiae @@l @@ 1J9e° N 2699l L 2@
6Q6T 9e° K \98° M 216941 Al 1 6Q9% G661 N 26931 QIFFAl | 666 &9 QAQQ QU7

A) M

B) K

C)J

D) L
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49.

50.

Sills

52.

53.

54.

58.

56.

The ratio of m
quantity of mi
@ Agé6Q 1R
699, 6069 FWY
A) 8 liters

The marked ¢
continuous re
IR A9IQ RIS ¢
6Q@ SRR 19
A) Rs.548

What will be t
of Rs.25 perc
12 foQ 9RiIa
A) Rs.43200

The differencg
sum of mone
amount.

AQ 616 4R ¢
9N, 6669 CJmg
A) Rs.8000

A person wen
the North to r¢
Q68 B A" Qg
agfen 1AGB
A) 70meters

Pointing to a t
mother. How

ARAS 696Q ?
B) 10 liters

B) Rs.648

ubic meter?

B) Rs.8500

C) 12 liters

Section - A : Mathematics

ilk and water in a mixture is 3 : 2. If 4 litres of water is added, the

D) 16 liters

D) None of these

C) Rs.41200

D) Rs.9500

LS-MEOO-16 / A / Page 10 of 24

Ik and water becomes equal. What is the quantity of water?
3 @RQ AQAIG 3 : 2 1 96 4 RSQ eRAI8I AN, 6669 F1Q 8 ARa QLS AR

rice of a watch is Rs.900. A shopkeeper sold it by giving two
bates of 20% and 10% respectively. What is its sale price?

w4 900 el | 6QIRIR1 9T A9Ig 98 gaIse Aeld QRIgsea 20% 6 10%
2IQ SGEIRY 626G 629 ?

C) Rs.748

he expenditure to dig a cubic size pit of 12 meter depth at the rate

1@ ANDRIRIA G 6SIRAIG A HegE 25 o7 SR 6963 & 6297
B) Rs.42200

D) Rs.40200

= between compound interest and simple interest on a certain
y for three years @ 10% per annum is Rs.248. Find out the principal

IRueR Q8@ 10% QI 21068 3 oFa 0a98 QU 6 AaR PIA ALK 248 6
QAR 660 ?
C) Rs.9000

t 30 meters to the East from a place called ‘A’ and then 40mitrs to
sach another place called ‘B. What is the distance between A & B?
> 01 99 @919 30 Fga 6 6Q0IQ @@s @ag 40 7. AR 2R L AR ‘B’ 06
CRIEQ QB! 6Q60 ?

B) 10meters C) 50meters D) 100meters

boy, Akash said his mother is the only daughter of my son’s grand
s Akash related to the boy?

60T QAR FEEY @7, RIS AAR 64 S’ IRl 691R G2AR 2RR RIS F2 | 2RISR 622

QPR ATE At
A) Uncle

Find out the v

‘13 f13 13VI3 Q

A) 1315/16

What is the sq

@@€7
B) Father

amY fas @9 |

0.053361 @ 941 €@ 69667

A) +0.231

B) £0.241

C) Brother

alue of z13 [13\/13vT3

B) 169 C) 13

yuare root of 0.0533617

C) +0.249

D) Son-in-law

D) V13

D) £0.251
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57.Paresh, Naresh & Suresh started a business with investment of 1/2:1/3:1/4
respectively. After 2 months Paresh took back Y2 of his investment. At the end of
the year, they got a total profit of Rs.378. How much profit will Naresh get out of
that?
q6Q49, P68 B8 Y6 GHRE 18 U@ QIQAIL QR QEM | 6AAUER 6RRLR ARG AGAS
QRUKEA 1/2 :1/3 : 1/4 1 QR41IQ A6Q A6 @' Q 69l (JRIeQ 2l QOIR 6aml | g
68196Q 6QRNEE 671G 378 T RN AINEM | 6GER VB MAQ FEQAS ER6C T AR 7
A) Rs.129 B)Rs.144 C)Rs.156 D) Rs. 168

58.1n the following figure, the circle represents Men, the rectangle represents
Doctors and the triangle represents Lawyers. Find out the men who are
doctors but not lawyers.
F69)Ie 526R 98 goRQ @8 NS AIeEe, IAGTE JETIQ A8 CIBRRE I9°
396 gt @g8 BARAIRT | 629FI6R GIBR &g 6Am g28 fda e |
/"“\\y/’\\

d

>
'l'la‘_ -
-

(A)E (B) JH (C)G (D) DE

59. How many meaningful words can be made with the letters ELMA using each

letter only once in each word?
JERIe IREQ J6ie A[QQ 26Tl QIR @@ ELMA a3 AF)eqg 60 ER6RIG 218]&1@ I

Qe FALRQ AR ?
A) None B) One C) Two D) Three

60. 10 years back, the age of the father was three times the age of the son. After 5
years, the age of the father will be two times the age of the son. What is the
ratio of their present ages?

10 od gs< dela 994 g 99aa 87 g¢ gal | 5 @gdsa JeIea @9d g8 F0dR 9R g8
629 | 6069 CAFIFFR QAL QAR 2QAIC 6@R6R7
A)10:5 B)11:5 C)12:7 D)9:4

6

—_

-1f 5% of the sale price of an article is equal to 6% the cost price and 8% of the
sale price and 9% of the cost price make a total of Rs.93, what is the cost of the
article?

AR 615N GAER FRRIR 5% 8 FAARIA 6% AAQ AFR N FFIRNIA 8% G QU
9% @ AT 93 o1 P, TAVTA UMY 6RES 629 ?
A) Rs.600 B) Rs.400 C) Rs.500 D) Rs.700
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Section - A : Mathematics

62. The average age of 25 boys is 15 years. If the average ages of the first and the
last 12 boys are 14.5 years and 15.5 years respectively, what is the age of the
thirteenth boy?

25 @8l QIReea 2QI918 @9d 15 oF | geifl 12 961 8 649 12 fdaa 2IQILIQ Q99 QRIS
145 o9 8 15,5 oF 626m, 13 691 AR6Q 2Jal ARRA RV 6R69?
A) 10 B) 12 C) 15 D) 16

63. The present height of a tree is 64cm. Every year it grows by 1/8 of its height.
What will be the height of the tree after two years from now?
601G G188 QIR 90! 64 62.4. 1 985 goed 58 Qe0Ia 1/8 2°¢ 96@, 6962 YRFIF0IQ
Q@ oJa6a 6180 293! 662 62N ?
A) 76 cm B) 80 cm C)8lcm D) 84 cm

64. What will be the amount of principal and interest if Rs.860 is invested for 2 years
@2paise per rupee per month?
SFIgE A1Q] 2 ARl AUIRER 860 SFIA 2 IR AR R6E 629 ?
A) Rs.1227.80 B)Rs.172280 C)Rs.1272.80 D) Rs.1722

65. Which of the following answer figures will complete the question figure?
80 9ot 28 589eag 6996 g4 5e8q aegd «aige ?

Question Figure Answer Figure

>

(A) (B) (©) (D)

66. A milk vendor buys milk at Rs.4 per litre and adds 25% water to it. It he sells the
adulterated milk at Rs.5 per litre, what is the percentage of his profit?
Q64 F1Q QUL REQ & 6.4 @REA VIR @& 6Q6R 25% Q& FalIN | 9F 61 QAIEIFiSl F1QQ
ROQ YL 5.5 QAR IGRER, PIA VPRE RN 6REG ?
A) 56.25 B) 50.25 C) 55.25 D) None of these

67.Mohan suffered a loss of 10% by selling his wristwatch at Rs.1440. At what price
he should have sold the watch to get a profit of 10%?
67120 OI'a 210ATY 1440 o160 ST 10% G ALRI | 6069 64 ANITY 6Q6C TFI6R
Qq Ag6R 10% e AlpaIBl ?
A)Rs1650 B)Rs.1700 C)Rs1760 D) Rs.1820
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_ Directions for Questions No. 68 to 70: Six persons A, B, C, D, E and F are sitting in two
rows, three in each. E is not at the end of any row; D is sitting second to the left of F; C,
the neighbour of E, is sitting diagonally opposite to D; B is the neighbour of F.
g4 Q°&41 52 @ 54 QIR F6a6IeR!: A B, C, D, E \9&° F g6oia 2IG6a G768l 6R%IN 9ad IF6a
oded | 69l9d dIGR 6896a E 9F QI F @ Q1999 §010 2Ie6q @38 D; C 69 & EQ 96w181 DS
QUG A6S 6008 NS 93T, F & A6eIS1 6298 B |

68.Who of the following are sitting diagonally opposite to each other?
F6ClID 609 621 9026 6008IRI6e 9IeE?
A)FandC B)DandA C)AandC D)AandF

69.Who is facing B?
: @B Q qe @6 @dag ?
A)E B)C D) D E) A

70.Who of the following are sitting close to each other in same row?
G642 6Q2C168 A0IR FRTER IRl JIF6R QTZE?
A)AandB B)AandE C)CandB D)EandD

Section - B : English
Instructions: Read the following passage carefully and pick out the correct one out of four
answers given below the Question No.71 to 80.

(1)Gender-based violence, including rape, domestic violence, mutilation, murder and
sexual abuse is a profound health problem for women across the globe. (2)Although gender
violence is a significant cause of female morbidity and mortality, it is almost never seen as a
public health issue. (3)Recent World Bank estimates of the global burden of diseases indicate
that in established market economies, gender-based victimization is responsible for one out of
every five health days of life lost to women of reproductive age. (4)On a per capita basis, the
health burden imposed by rape and domestic violence in the industrial and developing world
is roughly equivalent, but, because the total disease burden is so much greater in the developing
world, the percentage attributable to gender-based victimization is smaller. (5)Nonetheless, on
a global basis, the health burden from gender-based victimization is comparable to that from
other conditions already high on the world agenda. (6)Female-focused violence also represents
a hidden obstacle to economic and social development. (7)By sapping women’s energy,
undermining their confidence, and compromising their health, gender violence deprives society

of women’s full participation.

71. How does female focused violence stand on the way national welfare?
A)Women are killed by female focused violence and unable to participate in welfare

program.
B) Women do not join national welfare program in apprehension of gender biased

violence.
C) It drains women's energy, reduces their confidence, affect their health and hence

deprives them of full participation in economic and social development.
4 D) Women have not been given adequate representation in programs of national
welfare.
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73.What is the burden of health problems caused by gender-based violence on the global

level?

A) Almost the same as that of health issues caused by other conditions already high on
the global agenda.

B) Greater than any other health problems in the WHO agenda.

C) Smaller than any other health problems.

D)Higher than the health issues caused by other conditions already high on the
international agenda.

74.How does the author compare the developed and the developing countries in the
quantum of health problems caused by rape and domestic violence?
A) The health problems caused by rape and domestic violence in the developed
countries are higher than that of the developing countries.
B) The health problems caused by rape and domestic violence in the developing
countries are higher than in the developed countries.
C) The quantum of health problems caused by rape and domestic violence in both the
developing and the developed countries are approximately the same.
D) The ratio of health problems caused by rape and domestic violence in the
developed and the developing countries varies from time to time.

75.Why the percentage of health casualties caused by gender based atrocities is smaller
in the developing countries?
A) The total health problems is smaller than the gender based problems.
B) Compared with the gender based problems, the total disease burden in the
developing countries is much greater than that of the developed countries.
C) The total health problems is roughly equivalent with the gender based problems.
D) Compared with the gender based problems, the total disease burden in the
developing countries is smaller than that of the developed countries.

76. Which of the underlined parts of the following sentence is not a Transitive Verb?
By sapping women's energy, undermining their confidence, and compromising their
health, gender violence deprives the society of women's full participation. None

77.Which of the underlined parts of the following sentence is neither a Noun nor
Pronoun?

Gender-based
sexual abuse is a profound health problem for women across the globe.

78. Qut of the sentences numbering 1 to 7 given in the passage, which ones or one is/are
Compound sentence/s?

A)sentence 4

A

violence, including rape, domestic violence, mutilation, murder and

B) sentence 5 & 7 C) sentence 6 D) sentence 3 & 4

LS-MEOO-16 / A/ Page 14 of 24

72. What according to the author has never been considered a public health issue?
A) Female morbidity and mortality.
B) Rape, murder, sexual abuse and domestic violence.
C) Gender-based violence causing morbidity and mortality.
D) Gender based violence affecting women.
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79. Out of the sentences numbering 1 to 7 given in the passage, which ones or one
ontain/s Passive verb pattern/s?

A)sentence 1 & 3

B) sentence 2

C) sentence 4 & 5

D) sentence 6

80. Which of the underlined parts of the following sentence is an Infinite Verb?

Recent World Bank estimates of the global burden of diseases indicate that in the

A

B

established market economies, gender-based victimization is responsible for one out

C

of every five health days of life lost to women of reproductive age.

D

Instructions: Fill up the gaps with appropriate Verb/Auxiliary Verb/Preposition from the
alternatives given below the Question No.81 to 85.

81.1 like listening to the radio but I am not always impressed the quality of
the programs.
A) with B) at C) about D) by
82. Take possession of the records immediately so that they are not with.
A) tempering B) tamper C) tampered D) tempered
83. Ireland was part of the UK, ?
A) Isn’t it B) wasn’t it C) hasn’t it D) weren’t it
84. Will he completed his work by tomorrow?
A) had B) have C) has D) been
85. The ski resorts are usually crowded. There are many people skiing.
A) enjoy B) are enjoying ~ C) who enjoy D) who enjoying

86. He enquired, ‘When do you intend to pay me?’- Change the sentence into indirect

speech.

A)He enquired when I intend to pay him.
B) He enquired when I intended to pay him.
C) He queried if I intend to pay him.

D)He queries when I intend to pay him.

87. Identify the sentence-Kailash Satyarthi was awarded Nobel Prize for Peace in 2014.

A) Declaratory

B) Exclamatory

C) Interrogatory

D) Satisfactory

88.1 always love my country. - Change the sentence into negative without changing its

meaning.

A) There is no occasion when I don’t love my country.
B) There are occasions when I don’t love my country.
C) There is no occasion when I love my country.

D) No occasion is there when I love my country.

89. Pick out the correct sentence from the following.
A) None of the two books is useful.
C) None of this two books is useful.

90. Identify the degree of comparison in the sentence- Some beans are at least as

nutritious as meat.
A) Comparative

B) Superlative

B) Neither of these two books is useful.

D) None of the above.

C) Positive

D) Negative
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Section - C : Odia
FeRaIeR!: B¢ RYS AGERATF e ALRIER TRY Ie° 6 96 FAARES! g4 Q°6HI 91 @ 95 @ AR
QeQ G4o 993 |
QARIRSIGS 2IEE 6QYQIQ TIR 69 699 JIR 39S, 62 711 6QIM1, NAAR, B 9108 96 | ATRT
Q18 el 908 eea QI e, AIg ¢ AIFER @ AN &) Qe | 6 9IIIgER AGUAIER FIRRER
QERIY 628G 60Y 62 6FAISY GEAE §4 NG° 6ARIRE ATFBIER 62 6R6S Y1 62IRACR AT | &S
QISR @ & TR QFE, I 69 62 2ERIRS 4 | YA ALWEA 64 Feg g IS° dBL1Q ACARER |
@ QA 8 2QAIRER AEIF F1e0q 62 OF e AUCAIT AR GBS 94 | 6FAUGY 69N 629, AANSR
gRUeIq 2Y 697 Q6T e 9Iq 92 gade QERIg, 62 QIR GEIN | 2QEY 8 Q18] BIES LERIRSTR
QRIS O Q CING 28 KA Q@A &, ‘671l AR IR g2 ... 2ARE ARRRIR YRG! AR AIAUYER
20 609" | Basude BQ Glan /28, ‘62 6190, @ KR, P69 e F1eREa A8YIY” 6U6EERER 18T
6dIeagd, Ol QIS6R 28 ATAS 9B, @3 ARARGIA AUAIS; IS 6ICFEIER FIF VX, 69 AFARS! I
2R80IQ 21 249, 73 699aqd 93 G AR @ 2N | N2 edlergd 6@ Y& aRa/elq IR0
Q19629 6298 2GR YRIRIQ AIYR | 1Pl 6ACEEIER AR 6UCRERER 69 F1RRIT TSR QIa6T
212048 960 | Q@ Qe AEEg 90 FIeg A\ | QAR 2ILAIR ‘2.21.Q." EFIRQ JEAUS! | 99

Qg8 e° 29ARY QTAEIR go1e 6298 — 8 | IR dB6IR1 Ie° 21 219Q oR 6aRl- 2l | ARAEATER
goue 2IF1Q AL FERY ARRER 98 IRIE QALY AILIG AR AIRS — @ |

91. edlaqgd 98 ¥e° 9Ig QO Ja9eIg QIO AIRSIg 6RSIQE (166 2IFa Yedels @'
QI 6297
A) FNREIE @ QD Ie° AgARY QRGN JIAS KAIQ 629 |
B) QIR ‘22Ie. 6AE9a geT @AQIg 629 |
C) QIR QIR Y@ dB4IR1 9e° AIAIRIR 219l dIed @Rl |
D) &1ee AIORER e Ie° 29aRg Raa, §2 Ye° AFITIR 2Igl 9e° aG686Q AAB KO
QAGRER 9BQ Degd QU6KI4! |

92.396 9o Q26 ATR0l RIe *AQIea QIa?
A) Q90 YR 7S 1e° ARY 9F 6qII1 621RIN |
B) Qoreel 9id ARl 98 eea 2212 08 @ 2 |
C) @90 Yo AIHsa @ AN &) @48 |
D) Qoo gigd aInl Y9 geaa 2212 @ 6] @46 @ &I |

93. egrie gedeia 2Igle @42
A) edleeqd 88 We° gIg eoae 208eIg IRI0 9Igeedl |
B) edlaqer 6dlergd 68 6 gig 20as ARAREIR SRR 629 |
C) dIg eua QAR Ye° ARRSIQ AR 629 |
D) 6dlengd 6@ ¥e° aRAReIq 919 AR 9IG6eR 624 |
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94. 396 Qae QIR Geg 98 Ie° §RT1R FA6RRER?

95.

96.

97.

98.

A) 9gsaIgea AQUFIGT ATRG! 641G OI'R EFAUNIRIS B P FIF e ATRE! 2IAR AN FeR
VAP FTACR Fome g9 |

B) ZQYAIOE ATRGIER 6Q 606 JH1 AFAI6R QIF NIQ° GIg 66R 62 ACFS 99 |

C) o98aI4 6Q QORI 6202Q ANAIRT 60F 6Q 1 94, 33 HFQ @ § 2NQ &8, 819
60@ 6Q 2IEARS G |

D) ogsaId6R gjal 2N 63N SIS 624 62 Fag g 1&° IRL1R 68 R6Q |

“6011 AR QAR 92 ..... AARE AARRIQ TG GFIR ABAIAER AR 6QQ” - Y6 & Q&T
@ QI QACAB AQERAER FLLET ?

A) Q8P LIRS T QBT G900 JIag *FYLT |

FQ Yo F4IR ALIRISg € 26 @288 |

)
) D6QIFER FFIR AIRINIE FR2UEA RIS T QET G906 YeXg *L8F |
) ©g30146Q QORI 62AYR ERIKCNEH T QBT 2FQ Yoy FT8T |

O 0O W

Instructions for Qn.No.96 to 100: Read the following sentences in English quoted from a
piece of news and pick out its most appropriate Odia version from the four options given below
each of them as A, B, C & D.
Then be watchful you don't act like the boss, rather display calmness catalytic to him.
A) 6U606R6R A6TER Q2 6AAA §671 2RI I IR © IR, FS° VI AAER
A0S 9F die 98I0 gede @4 |
B) QQI606R 964 Q2 @ 9671 FITIE AR QA @R QIZ, @ I AR FARINR AVIAS €O |
C) 69606967 FAG Q2 60 G661 AT A FIF1 @ @9, 626 GIF ¢J FARIVT IF1 Q|
D) 62606967 SIFAR QI @ FARIQ AINE AN QL Ie° Bl IG6aI FARIAR MLTIQ KA |

When problems come, learn to watch your feelings and remain unruffled.
A) 69606269 ANIQY 2ITRI, FER AR FTIG I 6 2TFIS QL |
B) 64060626% AOQY AIYE, $FIR VILRIG AUVG FRQIG JF QR 4G° USRS QL |

C) 60606a6% AR I 2IT8, FeQ 696219 FIge @0 8 TR g2 |
D) 64060696 AAQY 23R, S8 Q6L YIFE FAQ IS FORE 62IRLS |

In fact, if you intellectually analyze, it is the problem of the boss, not yours.

A) Q12960 98 §6¢1 QRAGIA A2G AT @9, 2! §F ZRYRFIRITR ATA, GIIR G6L |

99.

B) g906a qIede 2060 F69091 @6R, 12! $FIR AN, IR AR F6F |
C) Qo6 OR @16 52 QEM 12! g6 AT AN R, Y71 @ AR |
D) 9Qe6a 9GaRIte QIR @R 6OYe 12l gAR AN, 9FIR ACTFR G6E |

Let us say your boss is an arrogant person who often deals roughly with you.

A) 6000 gIa 9 G648 Q1T 6RIR I6° 62 AFIEIER §F AT ARITR AR QS |

B) daIQia 97 21a¢ 9641 ¢d FeIea 6RIe A @ 9 ge6a g A8e QRIS K63 |
C) 966192 & 99 A1 R64 AVFERIF B AQ AAACA @71 ATG 2AAQ LR @43 |
D) QKR @ gAQ AYRIQT 68 ALFIQT 4B T Z6AR AAAER @71 A2C @Al AR @RS |
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100. Why shoulcl you be upset and feel yourself very miserable?
A) G661 QIR @ LEGIAL 621N AGR I QUR1A AGUR AR k-
B) 9691 QIE @ QIF 989 1e° feg 2 9UA1N ges @RQ?
C) G671 5922 Ie° 64I0R1A 2GRQ @R QIR |
D) g6 QIF OFQI I8° QURTE 2AQ0Q ARSI AFF FIER |

Instructions for Qn,No,101 to 105: Read the following sentences in Odia quoted from a piece
of narrative and pick out its most appropriate English version from the four options given below
each of them as A, B, C & D.

101. Geid, @@l & B ARHRIQ ATAAR BESIR ERIFAISE 1AQ FIAATeq TFCASR Yol
GORIA T LG B ARHAIR Fa3e 2RGT FACINES |

A) Yet, the people of Odisha which is a melting pot of various cultures have
protested all these storms and made their own culture continually flourish.

B) Yet, the people of Odisha, a melting pot of various cultures and traditions, have

withstood all these pressures and made their own culture and tradition continually
flourish through the ages.

C) On the other hand, the people of Odisha, a melting pot of various traditions, have
withstood all these pressures and made their own tradition always flourish.

D) However, Odisha being a meeting zone of various cultures and traditions, its
citizens have stood against all these forces and made their own culture and
tradition survive through the ages.

102. 33610 6RIRAIES MY A°YE IQ° QF AR AR ASE |

A) The public of Odisha are in possession of valuable culture and big tradition.

B) The people of Odisha are endowed with rich culture and high tradition.

C) The citizen of Odisha have been gifted with rich culture and high tradition.

D) The citizen of Odisha are owners of rich culture and high tradition.

103. QIRAsARIOIER BG2I A°E 8 JAHal FLIQT AINE AL ¥Q° 63LUR FAYR0IEa aIF g
609Q 6oQYAIRE ARG ATRRIER 6AR 62R28 |

A) The Odia religion and tradition mingled with that of Biharis at Rourkela, and
also matched with that of Telugus of Andhra Pradesh at Jeypore.

B) The Odia culture has mixed with that of Biharis at Jeypore and similarly matched
with that of Telugus of Andhra Pradesh at Rourkela.

C) The Odia tradition have efficiently matched with that of Biharis at Rourkela,
and matched with that of Telugus of Andhra Pradesh at Jeypore.

D) The Odia culture and tradition have successfully matched with that of
Biharis at Rourkela, and similarly matched with that of Telugus of Andhra
Pradesh at Jeypore.

104.921Q A, RIEFER, AR, AIRAEARN! IG° FATROIER ALY AR AT |

A) The cultural fusion has taken place here at Puri, Bhubaneswar, Sambalpur,
Rourkela and Jeypore.

B) Cultural erosion had taken place at Puri, Bhubaneswar, Sambalpur, Rourkela and
Jeypore.

C) Admixture of cultures took place at Puri, Bhubaneswar, Sambalpur, Rourkela and
Jeypore.

D) Instances of degeneration of culture has been found at Puri, Bhubaneswar,
Sambalpur, Rourkela and Jeypore.
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103, gqnoi6a K9Gl QUIARI A8E, F16TeE 6388 RAIAF! ARG Y&° 6518 A QR
Q° JRQE AT |
A) The Jagannath rituals, the Vaishnav rites of Sri Chaitanya Dev and
Buddhism were perished at Puri.

B) The Jagannath culture, the Vaishnav culture of Sri Chaitanya Dev and

Buddhism flourished at Puri.

C) The Jagannath cult, the Vaishnav cult of Sri Chaitanya Dev and Buddhism
have moled and moulded at Puri.

D) The Jagannath religion, the Vaishnavism of Sri Chaitanya Dev and Buddhism
have started and expanded at Puri.

106.36ql12 0@ clee AuQ 6996 ‘92918 AAIY” 5 |

A) QgeIe B) 2§ C) 8198 D) 624I28Q
107. gaeq oQ 2- V26 604 393 QIEZE 62IRE?
A) goT1%) B) ogelf C) agen D) @otal
108. 6gQ AAIQ6Q 91 99Q §o10U 0If AN AR 6@19d F08 6T AR SI9Ig @ AAIQ
QLIAIN
A) 9912 B)oQged  C)@ddieg D) AR
109. 860118 Q@ AIGE CRIQ 6296 2GR’ d8 F2I12 |
A) FeQiael  B) 9aQdl C) a6 D) aoge

110 Secip @Iy CIee I 6066 ‘@R’ QIQY 5212 |

A) QRYl 629IQ ARIFIEE QAIQ ETAER |

B) QR 62mI ¥e° AFIAIEE Qg 6TAER |

C) 6Q6E6R6H ARYl 62RI AVIAIES QAP ETAER |

D) QRYl gU63 aSIAIER QQIq 6TFasR |
1. S6q1e Q@ AIee RIQ 6295 ‘086" ae G212l |

A) @19 B) a1 C) aloge D) i€l
112. 36q)Ie 0@ QIGE RIQ 6905 AIQEY 2de ‘AU T2 |

A) @9 B) 9@ C) 6629 D) @626m
113. SORYe FRIQ 692G ‘AT’ AFA AAILAY, F2¢ /4 |

A) gaed B) 90%Q C) @659 D) QLIRS
114. S6qlIe QQ AIGE FRIQ 6996 ‘YR’ AQ 5212 |

A) 20l B) 6321208l  C) oR6l D) oG
115, doRge AR 629560 go10I FRER FURLIR 6N |

A) ARIT 6AUREA RIGR B) Q°gIf1 @06 AR

C) 6168 6415~ 6me) D) 609 S04 GRIR
116. 3¢ Qe QIUAIRT FRIQ 6908 ‘AU’ A1 Fda Q|

A) SERALIER ARIFER REET |

B) @@& JR6Q 2A°FY 6374 G206 626m |

C) ¥QIa AR 690lIee 213G QeI QIE |

D) 69 64110 @8 o&1 IR 6269 |
117. G6qle QQ AIeE IR 6296 ‘@ 204 g2 98 5212 |

A) 05 B) @189 C) &l D) fae
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118. 36018 AQ QT CRIQ 694G AU AF AR IR 5212 |

A) 6541 B) 969® C) s D) 4GQ1
119. B6q)ia Q@ FIGE FRIQ 6RRE 609" IR 5212 |
A) el B) 984l C) gl D) QaQIa

120. “6QITIGE GAIRR- 1T QRR gge 2d @ &7
A) 002 Gea 6gel  B) dege 8eq @ 629
C) Qgel oI @2l QINQ 2D ANRAC]
D) Q2 QI8 Gg@l QIS0 2P AR
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